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Uerifying Trig Identities Practice
Uerify each trig identity.
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1. cos(x) + sin(x) tan(x) = sec(x) 2. T csc(x) — sin(x)
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Using Sum and Difference Formulas Practice

Find the exact value of each. 3 o 5
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Rewriting Expressions Using Half-Angle Formulas Practice e
Find the exact values. e
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Precalculus Name ID: 1

Assignment Date ' Period
Find the exact value of each.
421 12 13
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Find the exact value of each expression.c.\.“m&é)
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Verify each identity.
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Precalculus Name e c:;f\-J ID: 1

Assignment Date ' Period

Solve each equation for 0 < 8 < 360.
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Solve. (0 & X<Lzw Domoln)
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Use double angle Formulas to rewrite the expression
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Solving Multiple Angle Equations Practice
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Solve each equation for{G—enmi Qas.&l Ladians !

5) —4 +tan®x = 2tan¥ - 5

. sn?Y
tfanx-24gnx +1=0 5/4 s i -
S SinY

(44")! = \(‘kﬂ-\)\’—f\, =

deny—1 .,/"7 e {

7) —cse’d = \/gcscx — 3csex cotX ~;sc,>/(

O = = (scy - Loy

0= ey ( (R-=2dx)

G%o JR -2¢h¥x=0O
- = Bﬁo%*)(‘:.."\/}

YWN‘" “od¥ = _\E

T

6) cot®> X - 3eseX =3

8) 2— - 2sec’ X = —sec”
) sec ) -2sec” ¥ zsee b'e

: . 2
(o8 — 3shy = =Bsh X
|- sy ) —2Say =-3sih 'Y

v=% 5 | —Sin?y —~2gx F2WX=C
Sﬁnj;up,;cﬂ n— (2ehm¢ — | ‘*}g\giw" - ;2"
oy —i‘___ Shxz/) (-
DL b
- = T yzme
(A Y=T" 4 Z2w¥
Ve ST Yo ST 2are

O = Sec?X +seccx -2

O = @:(){ — DCSccy + 2_\

K = §
ko
oSy

CosK =

O =—~2_

Cosg = —|
.




TPC Chapter 7° Name: Kt N

Part 1: Graphing Calculators and/or Scientific Calculators!

1. Solve the given problem using a graphing calculator.
Use the 2" calc feature of the graphing calculator to find the intersection of two equations.

Draw a sk_jetch—tem?hasizing the intersections for 0 € x < 2rt and write the values of the x-coordinates to the
accuracy of 4 places past the decimal point.
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Graphical solutigns: x =

Please make sure your Calculator is in degree mode. Scientific Calc or Graphing Cale.

2. Solvefor®,if 0 <8 <360°, use calculator and find all answers to the nearest tenth of a degree.
3sin*@—7sin0+2=0
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